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Institutionen for datavetenskap
LinkOpings universitet

EXAM
732A31, 732A02 and TDDDA41
Data Mining —
Clustering and Association Analysis
June 8, 2011, k1l 14-18

Teachers: Patrick Lambrix, José M Pena

Instructions:

+ Start each question at a new page.

o Write at one side of a page.

o Write clearly.

e If you make assumptions about a question, that are not explicitly stated, you need to write
these down. (These assumptions cannot change the exercise or question.)

Help: dictionary

GOOD LUCK!
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2. FP algorithm (2p+1p+1p+1p=5p)

a.

b.

C.

d.

Run the FP algorithm on the transactional database in exercise 1a with minimum
support equal to two transactions. Explain step by step the execution.

How do you incorporate a monotone constraint in the FP grow algorithm ?
How do you incorporate an antimonotone constraint in the FP grow algorithm 7

What is the main advantage that the FP grow algorithm has over the Apriori algorithm ? -

3. Constraints (1p+1p+1p=3p)

a.

Let C1 and C2 be two monotone constraints. Let us define a new constraint C3 so that
C3 holds for an itemset X if and only if both C1 and C2 hold for X. Let us define a new
constraint C4 so that C4 holds for an itemset X if and only if C1 or C2 hold for X. Are
(3 and C4 monotone, antimonotone, both, none, or we simply cannot know ? Explain
your answer.

Let C1 be a convertible monotone constraint and C2 a convertible antimonotone
constraint. Let us define a new constraint C3 so that C3 holds for an itemset X if and
only if both C1 and C2 hold for X. Let us define a new constraint C4 so that C4 holds
for an itemset X if and only if C1 or C2 hold for X. Are C3 and C4 convertible
monotone, convertible antimonotone, both, none, or we simply cannot know ? Explain
your answer.

Give an example of a constraint that is convertible monotone but not monotone. Explain
your answer.
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